[ number of missing inner layers |

Ratio

<hits> vs n

Ratio

| number of missing outer layers

1e - - - - - —| Entries 496 1 - —| Entries 496
E - : . : : + | Mean 1.063 : + | Mean 1.48
T . | Std Dev 0.766 . . | Std Dev 2.257
| EE . et — - I -1 P ‘e - I
107 *TEnuies 496 10 : *TEnties 496
F Mean 1.063 : : Mean 1.48
o Std Dev 0.766 : . |std Dev 2.257
Y N U S S Lo Y I N R N
10 E Entries 10 E i [Entries
E Mean E : ¢ | Mean
3 B Std Dev 3 B 0 . |Std Dev
10°F | R S e 1073 S R e
o : Entries o : : Entries
r N Mean r N N Mean
_4 . _4 . H
107F AR 107F : h
E Entries E Entries 496
L . Mean L . . Mean 1.48
107° eeav. | Std Dev 0.766 [0 ] TP P [ D .. | std Dev 2.257
E I E : : |
F Entries 496 F : Entries 496
I | | i Mean 1.063 I : : | Mean 1.48
1DD§,||||.||||||||.||||||||||||.|||,‘:]d|51|||||||hl>1r|r| 01059 — ."‘;d'u‘l L g
2 L
L = L
[ o [
4 — 1  TTrirtrrintrrattroatees YT rrrrryrrtrt1 i
N . . . . . . . N -1- . .
0.95 0.95
0 05 1 15 2 25 3 35 4 45 5 0 5 10 15 20 25
mean hi
40 2 -{ Entries 496
10 Mean 13.89
35 Std Dev 4.583
----- REEEEEFEEEEES |
r i Entries 496
LT “efene----id Mean 13.89
30 Std Dev 4.583
25 Entries
Mean
10 -] std Dev
20 C R S
I Entries
| . lean
15 Std Dev
R B N R Entries
10 Mean
Std Dev
—- o Lenr-- 1
5 Entries 496
Mean 13.89
+. 0 ‘ o)
3 = B
L f < L
: | It x
I=-- i i | | i ‘ W00 e =
0.95 : . : > - 0.95 : :
=3 -2 -1 1 2 3 0 5 10 15 20 25 30 35 40

track n

[Nofreco track vs pT |

track hits

107}

Entries 587
Mean

Std Dev

Entries
Mean
Std Dev

tries
an
Dev

9]

tries
an
1 Dev

» = m

tries
an
Dev

n=zm

Entries

Mean
Serler1

Ratio

iy
TTTT T T

0.95 : :

o
h
=

1



	Contents
	Page 1


